
Lot-I   P. T. O. 

No. of Printed Pages : 12 BPVI-003 

DIPLOMA IN VALUE ADDED 
PRODUCTS FROM FRUITS AND 

VEGETABLES (DVAPFV)  
Term-End Examination 

December, 2020 

BPVI-003 : FOOD CHEMISTRY AND PHYSIOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : (i)  Attempt any five questions. 

 (iii) All questions carry equal marks. 

1. Select the correct word (yes or no) in the 
following statements : 10×1=10 

(i) Carbohydrates, proteins and fats are major 
nutrients. (Yes/No) 

(ii) Vegetables and fruits are classified as 
protective foods. (Yes/No) 

(iii) Browning of cut apples is an example for 
enzymatic browning. (Yes/No) 
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(iv) Chlorophyll content of ripening-fruit 
decreases universally. (Yes/No) 

(v)  Degree of sweetness of sucrose is 100.  

(Yes/No)  

(vi) Permanent hardness is due to chlorides 
and sulphates of calcium and magnesium. 

(Yes/No) 

(vii) Thiamine is not necessary for nerve 
functions. (Yes/No) 

(viii) Common salt is class II preservative.  

(Yes/No) 

(ix)  Vinegar is concentrated HCl acid. 

(Yes/No) 
(x)  Spices are acidulants. (Yes/No) 

2. Choose the right answer by marking (√) :  

10×1=10 

(i) Vitamins and minerals are major/minor 
nutrients. 

(ii) Flavour change in fatty foods is 
rancidity/hydrogenation. 



 [ 3 ] BPVI-003 

  P. T. O. 

(iii) Process of loss of water in vapour form is a 
absorption/transpiration. 

(iv) Dramatic synthesis of carotenoids occurs 
during the first/last step of ripening. 

(v) The first products of photosynthesis in 
plants are carbohydrates/proteins. 

(vi) Degree of sweetness is higher/lower in 
lactose compared to sucrose. 

(vii) Vitamin A is a fat/water soluble vitamin. 

(viii)Anthocyanins are natural/artificial food 
colourants. 

(ix) FAD and FMN are formed from 
thiamine/riboflavin. 

(x) Vitamin B12 deficiency causes 
pernicious/megaloblastic anaemia. 

3. Write short notes on the following : 

(a) Potable water 5 

(b) Nutraceuticals 5 

4. (a) Explain the process of sauerkraut 
preparation. 5 

(b) Classify carbohydrates with examples. 5 
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5. Match the word in Column A with Column B :  

10×1=10 

Column A Column B 

(a) Amylose (i) Ability to form 
gels 

(b) Pectin (ii) Long, straight 
glucose units 

(c) Agar (iii) Bone-formation 

(d) Vitamin D (iv) Sea weed extract 

(e) Casein (v) Scurvy 

(f) Vitamin C (vi) Phosphoprotein 

(g) Niacin (vii) Non-nutritive 
sweetener 

(h) Aspartame (viii) Antimicrobial 

(i) Iodine (ix) Large crystal 
formation 

(j) Slow freezing (x) Thyroid function 

6. (a) Write the important functions of proteins. 2 

(b) Define aerobic and anaerobic fermentation. 

2 
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(c) Differentiate between climacteric and non-
climacteric fruits. 2 

(d) Briefly explain the nutritional quality of 
fermented vegetables and fruits. 4 

7. Indicate whether the statement is correct/ 

incorrect. Modify the incorrect statement and 
write it correctly. 10×1=10 

(i) Peroxide value measures the extent of 
rancidity development. 

(ii) Vanaspati is hydrogenated fat. 

(iii) Gluten is rice protein. 

(iv) Xylitol is non-nutritive sweetener. 

(v) Vitamin E is required for blood clotting. 

(vi) Benzoic acid is class II preservative. 

(vii) With increase in ripeners of the fruits, the 
total acidity also increases generally. 

(viii)Cucumber is a non-climacteric fruit. 

(ix) Kefir and Kumiss are legume based 
fermented product. 

(x) Ethylene induces ripening 
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8. Define the following : 2×5=10 

(a) Balanced diet 

(b) Saponification number 

(c) Hypobaric storage 

(d) Food additive 

(e) Essential amino acids 
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      BPVI-003 

iQyksa ,oa lfCt;ksa ls ewY; laof/Zr mRiknksa esa 

fMIyksek (Mh-oh-,-ih-,iQ-oh-) 

l=kkar ijh{kk  

fnlEcj] 2020 

ch-ih-oh-vkbZ--003 % [kk| jlk;u vkSj dkf;dh 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds mÙkj nhft,A 

1- fuEufyf[kr dFkuksa dk p;u gk¡ vFkok ugha ds :i 

esa dhft, %  10×1 =10 

(i)  dkcksZgkbMªsV] izksVhu vkSj olk izeq[k iks"kd gSaA 

     (gk¡@ugha) 

(ii)  lfCt;ksa vkSj iQyksa dks lajf{kr [kk| inkFkZ ds 

:i esa oxhZd`r fd;k tkrk gSA (gk¡@ugha) 

(iii)  dVs gq, lscksa dk Hkwjkiu] ,atkbe;qDr Hkwjkiu 

dk mnkgj.k gSA (gk¡@ugha) 
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(iv)  iQyksa ds iDou ls DyksjksfiQy dh ek=kk esa 

lkoZHkkSfed :i ls deh vkrh gSA (gk¡@ugha) 

(v)  lqØkst dh feBkl dh fMxzh 100 gSA (gk¡@ugha) 

(vi)  dSfY'k;e vkSj eSXuhf'k;e ds DyksjkbMksa vkSj 

lYiQsVksa ds dkj.k LFkk;h dM+kiu gksrk gSA  

     (gk¡@ugha) 

(vii)  raf=kdk (Nerve) ds dke djus ds fy, 

Fkk;sehu t:jh ugha gSA (gk¡@ugha) 

(viii) ued (lk/kj.k yo.k) oxZ II ifjj{kd gSA  

     (gk¡@ugha) 

(ix)  fljdk (Vinegar) lkafnzr HCl vEy (,flM) 

gSA   (gk¡@ugha) 

(x)  fepZ&elkys] vkEyd (Acidulants) gksrs gSaA  

     (gk¡@ugha) 

2- lgh mÙkj dk p;u] (√) dk fu'kku yxkdj 

dhft, %   10 1=10×   

(i)  foVkfeu vkSj [kfut izeq[k@xkS.k iks"kd gSaA 

(ii)  olk Hkkstu esa Lokn ifjorZu] fod`rxaf/rk  

(rancidity)/gkbM ªkstuhdj.k gSA 
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(iii)  ok"i :i esa ty dh gkfu dh izfØ;k 

vo'kks"k.k@ok"iksRltZu dgykrh gSA 

(iv)  iDou ds igys@vafre pj.k ds nkSjku 

dSjksfVukWbM esa izHkko'kkyh la'ys"k.k gksrk gSA 

(v)  ikS/ksa esa izdk'kla'ys"k.k ls igys mRikn 

dkcksZgkbMªsV izksVhu gksrs gSaA 

(vi)  lqØkst dh rqyuk esa ySDVkst esa ehBsiu dh 

ek=kk vis{kkd`r vf/d@de gksrh gSA 

(vii)  foVkfeu&, olk@ty foys; foVkfeu gSA 

      (viii)  ,sUFkkslkb,fuu izkd`frd@d`f=ke [kk| jaxd gSaA 

(ix)  ,iQ- ,- Mh- vkSj ,iQ- ,e- ,u- 

fFk;kfeu@fjcks¶ysfou ls fufeZr gksrs gSaA 

(x)  foVkfeu ch12 dh deh ds dkj.k [kwu dh 

deh@vf/jDrrk gks tkrh gSA 

3- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(v) is; ty  5 

(c) U;wVªkL;wfVdy 5 

4- (v) lkWjØkWV cukus dh izfØ;k dh O;k[;k dhft,A 5 

(c) dkcksZgkbMªsVksa dks lksnkgj.k oxhZd`r dhft,A 5 
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5- dkWye d dk feyku] dkWye [k ls dhft, %  

10×1=10  

 dkWye d dkWye [k 

(a) ,sfeykst (i) tSy cukus dh 

{kerk 

(b) isfDVu (ii) yEch] lh/h 'kdZjk 

bdkb;k¡ 

(c) ,sxkj (iii) gfM~M;ksa dk fuekZ.k 

(d) foVkfeu Mh (iv) leqnzh 'kSoky 

fu"d"kZ.k 

(e) dslhu (v) LdohZ 

(f) foVkfeu lh (vi) iQkWLiQksizksVhu 

(g) fu;kflu (vii) viks"kd fEkBkldkjh 

rRo 

(h) ,LikVsZe (viii) izfrlw{ethoh 

(i) vk;ksMhu (ix) c`gr~ fØLVy 

fuekZ.k 

(j) ean fge'khru (x) Fkk;jkWbM 

dk;Ziz.kkyh 
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6- (d) izksVhu dh egRoiw.kZ dk;Ziz.kkyh fyf[k,A 2 

([k) ok;qthoh vkSj vok;qthoh fd.ou dks ifjHkkf"kr 

dhft,A  2 

(l) ladVdky vkSj xSj&ladVdky iQyksa esa varj 

Li"V dhft,A 2 

(n) fdf.or lfCt;ksa vkSj iQyksa dh ikSf"Vd xq.koÙkk 

dh la{ksi esa O;k[;k dhft,A 4 

7- ;g vafdr dhft, fd fuEufyf[kr dFku lgh@xyr 

gSaA xyr dFku dks lq/kfj, vkSj mls lgh&lgh 

fyf[k, %   10×1 10=  

(i)  ijvkWDlkbM eku] fod`rxaf/rk fodkl ds va'k 

dks ekirk gSA 

(ii)  ouLifr] tytfur olk gSA 

(iii)  XywVu] pkoy izksVhu gSA 

(iv)  tkbfyVkWy] viks"kd feBkldkjh gSA 

(v)  jDr dk FkDdk cuus ds fy, foVkfeu&bZ dh 

vko';drk gksrh gSA 

(vi)  csUtksbd vEy] oxZ&II ifjj{kd gSA 

(vii)  iQyksa ds iDou ls lexz vEyrk Hkh vkerkSj ij 

c<+ tkrh gSA 

(viii) [khjk] xSj&ladVdky iQy gSA 
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(ix)  dsiQhj vksj dqfel] iQyh vk/kfjr fdf.or 

mRikn gSaA 

(x)  ,fFkyhu] iDou 'kq: djokrk gSA 

8- fuEufyf[kr dks ifjHkkf"kr dhft, % 2 5=10×  

(d) larqfyr vkgkj 

([k) lkcquhdj.k la[;k 

(x) gkbikscSfjd Hk.Mkj.k 

(?k) [kk| ;ksT; 

(Ä) vfuok;Z ,sehuks vEy 
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